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Instructions:
1) All questions are compulsory.
2) Each question carries 1 mark.
3) Answers should be marked in the given OMR answer sheet by darkening the
appropriate option.
4) Follow the instructions given on OMR sheet.
5) Rough work shall be done on the sheet provided at the end of question paper.
1. Who is the Home Minister of India?
WRAT faerHT JEHAT DI 3gd?
A) Narendra Modi g Arar
C) Draupadi Murmu argel 91,
B) Ram Nath Kovind Y Pifde
D) Amit Shah RGN
2.  Who is the Defense Minister of India?

HRAT fAerAT FR@roT Hofl 0T 3778 ?
A) Narendra Modi

C) Rajnath Sigh

B) Ram Nath Kovind

D) None of the above

R Al

AT g

HATY Bifdc

Rl bl PHIUTAET ATE



What is the capital of China?

it Aratem Blordl 312?

A) Toronto ZRiel

C) Ottawa 3ifeal

B) Vancouver TP
D) Beijing s

Which Indian city is called the 'Pink City'?
T[T QAER FEULH IV HRATT AR 3ded ST1d ?

A) Jaipur SR
C) Jodhpur SergR
B) Udaipur 3CAR
D) Bikaner dibrR

Who is known as the 'Missile Man of India'?

'YRAT &YUTRA YSY FU[H HivT 3edEcd STl ?

A) A.P.). Abdul Kalam T. 41, 3. 31eqcl Bl
C) Vikram Sarabhai Py IARTITS

B) Homi Bhabha BIHT AT

D) C.V.Raman 1. &L 301

Where is the headquarters of the WHO?

SUIT < AT $& 38 ?

A) New York b
B) Geneva BIECY)
C) Paris iy
D) London GEG
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Where is the headquarters of the United Nations?

I AL AT PS HTer?

A) Geneva IBIEE
B) New York i
C) Paris uiyg
D) London GEG

Who is main architecture of Indian constitution?

HRATT AT fATIBR HIoT ?

A) Bankim Chandra Chatterjee  sifdsHeig TgiaTedr™
C) Rabindranath Tagore dlGATY CPIR

B) Dr Babasaheb Ambedkar 31, SaNTed 3Tdgde
D) Mahatma Gandhi TgTerr amieft

Which is the longest river in India?

HRATE! Helid el &t BIOTA 3182

A) Ganga 3T

C) Godavari IMGTaet

B) Yamuna qg-T

D) Sindhu B

Who is known as the 'Father of the Nation' in India?
WRATHE TSAAT FEUH D107 3Nl ST ?

A) Mahatma Gandhi TgTer orieht

C) Subhas Chandra Bose S ILECIE
B) Sardar Patel IRCR Ul

D) Jawaharlal Nehru STATERAT g%
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Which is the longest river in the world?

SPTTTeT Taid ofid el BTl 378 ?

A) Amazon 0=
C) Nile EIEG
B) Yangtze Il
D) Ganga 3T

Who was the first Indian woman in space?

3ARTBIA ScAed! digel! HRATY Higedl bIoT &l ?

A) Kalpana Chawla YT el

C) Sunita Williams e CIGINCRaL)

B) Rakesh Sharma NERIRE]

D) Valentina Tereshkova RalieT CY9PIE]

Which is the largest ocean in the world?

SPTTcilel Hafd HIST PR BI0TdT?

A) Atlantic Ocean 31edifed HeRIPR
C) Indian Ocean &<l I8 PR

B) Pacific Ocean URAfthds AERIPR
D) Arctic Ocean MR B AGEPR

Which city is known as the Silicon Valley of India?
HRATS RAfciepi= Fefl TeUH PIUId 2R HIBE ST1d?

A) Hyderabad OIS
C) Pune qol

B) Bengaluru EHER
D) Chennai SCE

4:26
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17.

18.

Who invented the telephone?

SfTpI=TaT QM HIv cTraetr?

A) Thomas Edison oy Ufsa

C) Alexander Graham Bell ciaslisy YgH ad
B) Nikola Tesla IECAGIRLSl

D) Albert Einstein 3cde SIS

Which gas do plants absorb during photosynthesis?
Il FBII TATUTERRIT PIUTcH! arg MY TATd ?

A) Oxygen Hifer IS
C) Nitrogen RIS
B) Hydrogen BREER]
D) Carbon Dioxide Bl SRITRITES

How many states are there in India?

ARATHES UHUT el 159 37T ?

A) 28 A
C) 29 3
B) 30 30
D) 27 W

Which is the smallest continent in the world?

STl Tdid el We HIuTd?

A) Africa 3TfOhchT
C) Europe R

B) Australia HRefern
D) Antarctica ierfa et
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20.

21.

22.

Chandrayaan-3 mission was launched by which organization?
AGATHIGH BIUTRT T 3- I el ?
A) NASA

C) ISRO

B) Ros cosmos

I

D) SpaceX

Which metal is liquid at room temperature?

DIUTAT &I ATYRUT ATYHHTA gd 3l ?

A) Iron g
C) Mercury qRT
B) Gold ic|
D) Silver gt

If 20% of a number is 50, what is the number?

Ueh] T&AD 20% & 50 3778, TR il THT PHIvTdl?
A) 100 200
C) 200 00
B) 250 40
D) 300 300

India's first bullet train project connects which two cities?

ARATH Ufgell geie ¢ BIUTRT G A&RIAT SN ?

A) Delhi-Agra feeedt - 3mn

C) Mumbai - Ahmedabad oS - HEHGIEIG
B) Chennai Bangalore IS - PAR

D) Hyderabad - Vijayawada I CI R E S DG
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23) What is the currency of Japan? ST et BIvTAl 3T ?

24.

25.

A)
)
B)

D)

Yen Ll
Dollar SIoN
Peso BE|
Rupee R

Complete the series: 3,6, 12,24, ?
Hifetes! gui & 3, €, €3, 39, ?

30 30
36 3&
48 8¢
60 &o

Rural development means:

ITHOT fahg TeuTat:

A)

B)

Improving rural lives, meeting the fundamental needs of the rural
population, encouraging rural people to participate in social, economic,
and cultural activities.

AT SHTTHMH JLUROY, ATHUT AIBUAAT Ay SR o BRol, JTHI0T Alebi-T
ATHIfSTeR, 3Tffes 37101 WP AP IushHiAE HEHPil S0 TR BRI,

Introducing new policies related to political institutions at the basic level

HAYd UTcTodIeR ITSThIY FRYiM Heferd AdI &R0l HIe Bl

Carrying out surveys, recording data, and gathering information on
demographic statistics

TJeIuT 0N, 22T Vbl B0 30T ANBASIARAT 3MBSaRIgded Hifgdt M3l
PO,

introducing laws and regulations

PRI OT fAH TR B0,
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Community size, population density, Homogeneity, Social interaction,
Agriculture as the main occupation, natural contact, social interaction, social
stratification, and social mobility are markers of which type of demographic?

TG HTHR, clbHd=l G-I, Uhsydl, Al Jdlg, Adl & I Jadd,
Ww HHISIS e, A TAGRT 0T A TNl & Srore
TR Al ARAT b el ?

A) urban population QMBS ANHUAT
B) rural population ITHIOT TTIhEeAT
C) semi-urban community 37ef-2rER) THE™
D) semi-rural community 3ref-rior Fe

Rural development has three dimensions or aspects. These three dimensions
are:

SO BT i 31T b G MRl & A 31T 31Rer
A) Agricultural, animal husbandry, horticulture.

Qell, YUTEH, Belcdrg
B) drainage,roads, and airways

g1, 33 37110 gars Apf

C) Social,economic, and political.
FalldTed AT, 3fefas 30 et

D) housing, urban planning, economic

efAHiur, 2rEd fAdIsH, e
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Various schemes are in place for the benefit of the rural population. Most of
these plans are sponsored and enforced by the Indian Government. Three of
these rural schemes are PMGSY or Pradhan Mantri Gram Sadak Yojana, DRDA
or District Rural Development Agency, and SSGY or Swarnajayanti Gram
Swarozgar Yojana. These schemes have organizations that are autonomous
and operate within the guidelines set up by the government and the branch of
concern. What is the name of this branch?

FHOT ST RRAMTST fafder QT 31ed. Irdeh! Sgdes ST HRA INRBR YRS
37IfOT 3T 30T, AR i AT AT Boral divasiivgary fdsar gerdst am™
TS JIoTT, SRRV fosa fategT ImioT fdery TR 310 tqugsiiary fdar o
ITH IARISPIR AISTHT. IT JiTiHeN TR AT 3HTed 30 IRBR 1107 afSd Qmed+
G APieeies arained IH BdTd. O AT ARIY A1d BRI 378 ?

A) Neerachal National Watershed Project
ARTeIeT AL YIUTeAIE Yeberd

C) National Rural Institute of Rural Development
TeT T ST T wRe

B) National Rural Road Development Agency
TSy o e farepr e

D) Ministry of Rural Development

YTHIOT A T

Rural Development in a country requires systematic planning and
implementation of these policies. Certain activities are considered important
markers for development in rural areas. Those activities are:

ST AT fABTaTaTS! AT RV Uga2fR RISt 31for 3iHcadsauh) 3993 318,
ITHIUT YPTAIA [ABRITETST B 3UhH Hgwdr A STdld. & 3UshHiAe JHIAS

e

A) a good water management system, transportation system, road
constructions, education system

IPTeA! STAARATY T, dTgdch aRAT, I FiefcbrH, forerur syawey
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B) Holistic village development, rural development, poverty eradication

I AHEfawN, AT e, arive e

C) electrification, water management system, poverty eradication

fag[ciepRUT, STeToaReiTa o=, gIiRe fAgeH

D) corporate management

PIIRC HARATIT
Rural development means.................... for the social and economic growth of the
rural Areas:
T [IBIT T0TS ATHOT YPTIeie AT 37701 3 APt .......oeo.
A) Policy ¢[RUT
B) Rule g
C) Action plan Pdl- AT
D) None of these ITHT HTere! ATe!

The action plan under rural development is to focus on:
aefioT fAesraT3ienTa Pl IIRRIST AR T8l Bigd Bck
A) More Improving the quality of life of Urban
QRN WP SHa-THT JLUROT
C) Voting strategy in rural areas
JTHIOT YT HefeT efRoT
B) Lingering and emerging challenges in rural areas
ATHIOT HPTTA PMSUIRT 37101 3G 31T
D) None of these

AT BIEe! el

10: 26



32. The state bank of India was set up in

33.

34.

35.
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................ with a focus on rural credit.

FTHIOT BATR AL DG BEA ....... LA I e P ST RATYAT BRUATA 3T,
A) 1947 B) 1950

C) 1955 D) 1959

........... SHGs stands for

TIFGIIA ITC TEUT. ..ovevrrenee

A) Self-Honor Groups W-JHTFE

C) Secondary Help Groups GIH Hed v

B) Self Help Groups W e

D) Stand Helping Groups AR Hed ITe
KCC scheme stands for:

BRI FrsT- 312f 31T 3178

A) Kisan Cash Card B B B1s
C) Kisan Credit Card o Afte &8
B) Kisan Committee Card BT pfee HIE
D) None of these ITAHY BIEET AT
Operation flood is a system of .................... cooperative.
TR T8 Bl coverrerren TEPBRI JUTC! 3778

A) Food 4

C) Agricultural product Pl 3T

B) Milk =t

D) None of these ITHY HIErE! ATe

11:26



36. Milk cooperatives in India have their epicenter in the state of ...................

37.

38.

URATAT G TEDBRT TLATT BEIAG ..vvvvvvvvrrrrrnns NEUIGIEIFS

A) Haryana BRATOT

B) Gujarat JSRTd

C) Punjab RG]

D) Rajasthan NEIE]

........... is a system of farming that relies upon the use of organic inputs for
Cultivation.

................ &1 A=t Ueh Uegd 3118 ST AAPTANITS! Al FATAS=aT aTuRTaR el 3.
A) Organic farming e At

B) Inorganic farming Hplafdb et

C) Animal husbandry qRUTeT

D) Horticulture BAldrg

Which of the following is main function of NABARD?

GTATeTddh! BIUTd BTH AT 75T BTy 3778 ?

A)

B)

)

To serve as an apex funding agency for the institutions providing credit in
rural areas.

ATHIOT HBTTA Bl SUIRIT IRYTATS! Fdied el Ut TeU[H P HR0l
To provide credit to the youths in urban areas

& UPTe dSUTIAT o 0T

To undertake monitoring and evaluation of projects refinanced by it

TeATehg YT QRae™T SITOTRIT Seberdid fART&T0T 3110 Herfich vl
Both aandc
31 3101 & Gl

12:26
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41.

42.

A) Crops fUp

B) Dairy QYT

C) Animal husbandry qRATeT

D) None of the above TRTID BIEIE ATer
"A pattern of behavior that constitutes is called...................
"IV Teh THAT Sl TR Rl Tl <o T

A) social problem IS AT

B) economic problem 31fefes TmR=

C) political problem RISTh I HHIT

D) religious problem eTfHies TR

Which of the following is not source of social problem?

TctieTdds! BI0T AT TR a5 ATel?

A) Social change AHISIP S

B) Poverty qIRGT

C) Personal development Jafhes fAdbr
D) Personal disorganization. Jafthds 3TaRAT

Density of population is very much related to:

BTN AT Bl

A) climate gAY Feifdd 31
B) political system RISTeh 1Y eRAT

C) environmental study G TaRUY 31T

D) economic condition 3nfefes e

ENT-54
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Which is the social cause of juvenile delinquency?

P[RS TSI BRUT BIUTd 3778 ?

A) Broken Homes qeciail 'R
B) Poverty aIve

C) Beggary [ECaN]

D) All of the above RN Id

Which is the effect of over-population?

STRA Alpaa=T URUTH B 318 ?

A) Population and poverty Sl 31Tf0Y 3Tt
B) Low per capita income PHI &R81S 3UA

C) Shortage of food. AT HHARAT

D) All of the above R Td

Poverty is a..... SRS & Ueb..........

A) Social problem AHISTh JHIT

B) Economic problem 31fefes TR

C) Political problem RISThIY THET

D) Religious problem e[TiHch AT

Which are the economic problems of poverty?

TRl 31 THRAT BIUTT g ?

A) increasing Unemployment dred! sRISPTRT

C) Inadequate economic development 37QRT 377feh faeprT
B) Capital Deficiency Wisaed HHRAT

D) All of the above RN Id

14: 26
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47. What is the full form of IRDP?
IRDP T JUf Y B 3778?
A) Integrated Rural Development Programme UdbIfcdids ATHIUT fadbRT BHRIckH
C) Induced Rural Development Programm  9Rd JTHio1 fosrg wricH
B) Intelligent Rural Development Programme SfegHT ATHIUT {dbT BRIhH

D) None of the above. RAUD BIEle ATel.
48. e provides scope for organized crime.
e JITRIE a1d &d.
A) Corruption YEER
C) Violence IRRIEIN
B) Unemployment SRISPIRT
D) Terrorism GeRlddiq
49. ... is a crime committed by a person of respectability and high social status
................ &1 381 UfAfSd 31f01 3= AIfaies WS Sehin Botdll 371R.
A) Blue collar crime & Pl &l
C) Red collar crime 8 PR &l
B) White collar crime RISC PR el
D) All of the above RN Fd
50. The problems faced by the poor in India........
HRATAT STRETT HSHTGUTRIT FHRA.......
A) Social discrimination A1 NGt
B) Housing RO
C) Subculture of poverty SRS 3URB AL
D) All of the above RNA Id

15:26
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What is the full form of AIDS?

Tl 9ol B B 3718 ?

A) Acquired Immuno-Deficiency Syndrome 3{ddrI8 SRIAI-sfthfAg- fAgH
C) Acquired Immunity Syndrome ﬁaam's‘gﬂﬁ[ﬁgﬁ

B) Attained Immuno-Deficiency Syndrome 1&g SRI1-Sfthfra=l fAgH
D) None of the above. TTUD BIEIE! ATl

What is the method of treating delinquents?

TIRIGR 3UAR BRUIRI Ygd BRI 37187

A) Psychotherapy AR

C) Activity therapy ICERICCICIRECIN
B) Reality therapy dRAfdhdl TR
D) All of the above R Td

The tribe may be an example of.............. ?

STHTA G covvevrrrrren o 3GTERUT Y 2ABd?

A) Family Ped

C) Community JHCT

B) Association geAm

D) Caste ST

What is the type of control organized through bureaucracy?

TBLMMBIGR DIV YbRd 0T IS dhed ST ?

A) officials BRI

C) Formal 3Mu=nive
B) informal ARG
D) Court T

16: 26
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55. What do we mean by the term "deforestation"?

56.

57.

58.

"SPTAAIE" T Qs 37 BT 3R ?

A)
)
B)

D)

Decrease of forest areas CEREIRIGRE
Road maintenance I SIqHTA

Clearance of forests for buildings ~ SHRAINITS! SPTAH! AHAHTS

Construction and maintenance Sie/TH 30T STYUTA

Narmada Bachao Andolan, was initiated by........

THGT STd TQIATT BT ovvrrsverrres g ST,

A) Medha Patkar Tef giedh

C) Megan Fox T Bl

B) Megha Soni T

D) Medha Shailaja Payekar AT ATl TR

Jungle Bachao Andolan was started in the year:

A) 1982 C) 1978
B) 1967 D) 1953

Investigation on corruption YR dipeft
opposition Attending of summons of faRTel g&ir= TH=IT 3ufRd -0
Cases related to bribery TR RILf Teferd Jepvot

To create an effective deterrence against corruption

YSTARIAS g JdTd Ufcse fAmfor oy

17:26
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A) Maintenance ST

B) Providing the needs to the poor RS TR E[UT BRI
C) Compromising the ability of future generations

UTd! fUeai=n gHqaef dssiis oot

D) The development that meets the needs of the present without
compromising the ability of future generations to meet

HiaTcteT =T eHaef d8siig 9 BRAT daHT-TA IR YUT BRUTRT fdbRT

Full form of CRC is.........

CRCA I ® Y IR ...

A) Convention on the Rights of the Child STeT GahiaRIc] PRI
C) Corporate Rights of Company dTc] gaeb bYUHL

B) Child Rights company DU PIINC §ah
D) None of the above IATD! BIEral ATer

Which of the following magazines was not launched by Dr. Ambedkar?

GTAleTdehl PIUTA HIRID S1. GBI I Bl ATel?

A) Mooknayak HPAR—IB

C) Prabuddh Bharat Uqg URd

B) Bahishkrit Bharat dfespd URd
D) Saraswat IARIAd

18:26
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62. Which of the following weekly papers was not started by Dr. BR Ambedkar?

Gl leTdeh] PIVTA ATATfedd IAu 1. &l 3TR. 3TdSHRI Y& el Aad ?

A) Excluded India dfespd URd
B) Mook Nayak Ao APk

C) Janta ST

D) Kesari Gepany|

63 Which of the following books has been written by Dr. Ambedkar?
&1, a8 Fi-il WicieTdhl PIvTd b foifgt e ?

A) Letter for a Nation TS 0o

B) Thoughts on India YRATGRI faaR

C) Thoughts on Pakistan BlICERIECMGACEIN
D) Train to India YRATDS SUTRT ¢

64. Babasaheb Dr B. R. Ambedkar played a significant role in which social reform
Movement in India?

SIS 1. & 3R 36Eh il HRATA I hIOTT HHTSIch RO Ybdosid Hewadl
YAPT IslTael ?

A) Civil rights movement PRI &b Tosd D
C) Women's suffrage movement  Hfgcll AATIBR UBddw
B) Anti-colonial movement aaTgdfaRIe IBdd

D) Dalit rights movement &feld gah dBddD

19:26
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65. Which of the following is a major achievement of Babasaheb Dr B.R. Ambedkar
in the field of education?

ST 31, d1.37R. 3798 Jid fA8T0T ST IS J2A HIUTd 318 ?

66.

67.

A)

B)

D)

Establishment of the Indian Institutes of Technology (lITs)
URART dFs1T IR (TI3TICT) T AT

Promotion of adult literacy programs

Fﬁ_(‘g_\q'fa‘l'édl HRIGH] H-\IN‘IIE?"I

Introduction of the Right to Education Act
f18107 geep BIIET! Al

Founding the Indian Statistical Institute (ISI)
TRATT FifADT AT (SMATHT) TATIT

Which of the following was a significant contribution of Dr. B.R. Ambedkar to
Indian society?

27, o1 37R. 37i98H? I WiciieTdh! HIvTd IPTEH gra ?

A)

B)

)

D)

Leader of the Indian Army ARAR A= A

Founding member of the Scheduled Caste Federation

IR STl AERIET ILTTh G

First Speaker of the Indian Parliament URA G Yfgel 3ege
Leader in the Indian National Congress AR T PERA A

When did Dr. B.R. Ambedkar convert to Buddhism?
1. §).31R. 379 dRiH! dig & peft TBReAT?

A)

B)

1947 C) 1956

1950 D) 1945

20:26
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68. Which movement did Dr. Ambedkar lead to secure the right to water for Dalits?

I qTuaT goh T T GUARITS S1. HTFEHRIH! BIvTd JHiale el ?

A) Champaran Movement IRV TSI

C) Mahad Satyagraha HEIS JARIg

B) Salt March Mo A

D) Quit India Movement YR BIs! il
69. Raja Ram Mohan Roy was called a pioneer of?

TSI I HIg I I I JUId 78l et ?

A) Indian Renaissance HRAT GI1PRT

C) Economic change 371 Sgat

B) Women's development Afgetl fapr T

D) Rights gd

70. "Brahmo Sabha" was founded in which year?
"STEIIHT" <t FATIT HIUTT IS STl ?
A) 1828 C) 1826
B) 1827 D) 1825

71. What was the name of the movement started by Phule to oppose caste
discrimination?

ol it STAMAGTCT faRTe HRUIMTS] & dbeied] Toddodrd HTd B il ?

A) Satyashodhak Samaj TI2Aelh JHTS
C) Brahmo Samaj EIRIEEIE]

D) AryaSamaj 3R 1S

E) Prarthana Samaj 1T TS

21:26
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72. Which book did Jyotiba Phule write to criticize the caste system?
SIS Pt it ST TTaaR Elehl HRUIMTS! PHIvTd JRelep feifger?

A) Gulamgiri I[AHPRY

C) Annihilation of Caste ST 3Ted
B) Mook Nayak A AP0

D) Satyarth Prakash 1 Jh1el

73. What is the full name of Karmaveer Bhaurao Patil?

BHIR HI3RTd Y1l i quf 1d g ?

A) Bhaurao Paigonda Patil UT3=Td YRPIIST Uiélel
C) Bhaurao Ramchandra Patil T3 TG UIeled
B) Karmaveer Bhaurao Patil PUIR W31 U
D) Bhaurao Narayan Patil UT3=Td ARIIUT IéTed

74. What was the main aim of Shahu Maharaj's social reforms?

QMg HERTSTIAT ATHISIeh JLRUT 37 3fe 1 gl ?

A) Promoting the dominance of Brahmins STEIUTS deiRd dTeaul

C) Strengthening the caste system STl Sovahe GUl

B) Upliftment of backward classes and women ARG 10T AfReTi™ 3c
D) Promoting religious orthodoxy e[TfHeb FSIATGTCT <A1 Ol

75. Who founded the SNDT University for women in 19167
1916 He AfRATS SNDT fediari o1 Hiuft el ?

A) M.G.Ranade H.91.3[s

C) Gopal Krishna IMYTes P07 IRl
B) Dhondo Keshav Karve &Sl B2 Bd

D) Bal Gangadhar Tilak dTes IPTeR feosh

22:26
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Which of the following is a complete sentence?

A) Running in the park. C) Although tired.
B) The dog runs quickly D) Walking

| would like ......ucuue... a doctor someday,

A) becoming C) become

B) to become D) becomes

We have known each other .................... we were children.
A) from C) since

B) for D) during

The package arrived ................. the expected delivery date.
A) at Q) in

B) before D) on

The cat is hiding ................... the bed.

A) under C)on

B) between D) in

............................ of my friends are coming to the party.

A) Most C) Much

B) More D) Many

He is the .....cc...... of the two brothers.

A) youngest C more young

B) younger D) young

| couldn't find my keys..........c...... | left them on the kitchen counter.
A) but C) SO

B) or D) because

23:26
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The book is .....cccveuueneee on the table.

A) lying C) laid

B) lay D) lays

Identify the noun in the sentence: "The sun is shining brightly."

A) shining C) sun

B) brightly D) is

Choose the correct form of the verb: "She ............... to the store yesterday."
A) go C) went

B) goes D) gone

Which sentence is grammatically correct?

A) Neither of them is coming to the party.
C) Neither of them are coming to the party.
B) Neither of them am coming to the party.
D) None of the above

What is the correct plural form of "person"?

A) persons C) peoples

B) people D) None of the above
| can't believe ............... my keys at home.

A) | have forgotten C) I forgot

B) I've forget D) | forget

The meeting will start ............... 2:00 PM ......cecuuveueee 3:00 PM.
A) between, and C) at, to

B) at, until D) from, until

24:26



91.

92.

93.

94.

95.

96.

97.

| don't have time to finish this project.

A) enough C) too

B) very D) so

| didn't see your message ................. | checked my phone.
A) SO C) while

B) when D) until

Choose the correct spelling.

A) Guidance C) Gaidence

B) Gaidance D) Guidence
Choose the correct spelling.

A) Accommodation C) Accomodetion
B) Accomodation D) Acommodation
Choose the correct spelling.

A) Enviranment C) Environment
B) Envirenment D) Environmant
Choose the correct spelling.

A) Devolopment C) Development
B) Developmint D) Devilopment
Choose the correct spelling.

A) Hypocrisy C) Hippocrisy

B) Hipocryen D) Hypocrasy

ENT-54
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ENT-54

Select the correct plural form (Que. No 98 to 100)

98. Girl
A) Girls C) Girl's
B) Girles D) Girlese
99. Box
A) Boxess C) Boxes
B) Box D) Boxses

100. furniture
A) furnitures C) furniturs

B) furniture D) furniture's

L X 2 4
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